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Mod. Phys 23, 90(1951) )

<v{advs- 1> = <v,- 1gdve> = ,ﬁs /12

<vdadvs+ 1> <vg+ Tjadve = (vs + 1)/2
<Vdadv ¢ 1> <v,- Ljadve> = vd2

H. H. Nidsen Qs = (Quat iQg) =T exp(ixy)
Vd
Id |d:Vd,Vd'2,...,00r1,...,'Vd Vd+1
Oga = I COSXg, Qg = I SINXq r exp(iXq)

Vg, laldg V- 1, 1g+1> = <vg -1, g+ 1ag' v, 1> =/(vg —14) /2

Vg, lalda' Vg -1, 1g- 1> =<vy- 1, lg- 1ag Vg, 1> = (Vg +14) /2]

Vgt 1, 1g= 1dg Ve, 1> = <Vg, [l TVa+ 1, 1g- 1> =/(vg =14 +2 /2
<Vg+ 1, g+ 1gg Vg, 1¢> = <Vg, lglaa Ve + 1 1 +1> = f(vg + 1 4 +2) /2

Vg, el g Vg, lg > = <vg, lda g v, lg>=vy+ 1

(1-13)
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G = (@ + GV V2 O =-i(0" - 05)/ V2
Vgt 1 1g- U0ealVa, 16> = <V, lalOgalVa+ 1, 13- 1> = (U2) /(v —1 4+ /2
< Vot L lg- UdglVa 16> = -<Vg, Lol Va + 1, 13- 1> = (1/2) yf(vg =1 4 +2) /2
< Vot L g+ UV 1> = <Vg, lolOial Va+ 1, g+ 1> = (-112) yf(vg +14+2)/2
< Vot L gt 10anVa, [ = -<Vg loltal Vo + 1, lq+ 1> = (1/2) yf(vq +1 4 +2)/ 2
<XV, 1gl0aal Va+ 1, 1g+ 1><vg+ 1, 13+ 10g Ve, 1>
+ <Vg, lglQgal Va + 1, 1g- D><vg+ 1, I4- 1Qgal Vo, 16>
= <y, lglawl Ve + 1, 1g+ I><vg+ 1, 14+ 1Oyl Vg, 16>
+<Vg, lglOgl Va + 1, 1g- 1><vg+ 1, I4- 1Oyl Vg, 16>
=(v4+2)/4 (1-199)
<NV, 1gl0aal Va- 1, 1g+ 1><vg- 1, 13+ 10gel Ve, 1>
+ <V, lglOgal Va- 1, 1g- 1><vy- 1, 13- 1Qgal Vg, 16>
= <y, L glael Va1, 1+ 1>< v-1, |+ 1)qg| Ve, 1>
+ <Vg, lglQal Va- 1, 1g- 1><vg- 1, 4~ 1| Vg, 16>
= v /4 (1-19b)

Iy I-type doubling (0.01cm™)
SFG

l4 Vgtl

<VglQgal Vot 1><Vi+ 1|Qga| Vo> = <VelQgo| Vit 1><V+ 1|qg| V> = (Vg+1)(ve+2)/4

VglQgal Var1><V=1|0g| Vo> = <Vg [Ogo| V- 1>< V-1 [QgolVe>) = (Va+DV/4 (1-20)
vgtl r exp(iXy) Xa
<V, 14l0ga"+ oy’ | Ve 16> (Ve+l)
3
H. H. Nidsen Oy =rSinBcosy, ¢, =rsSinBsin, g, = r.cosH,

0 — +1 — H H
qt - rtcoset qt - rtS| nete(p(il Xt)
Vv, I, m, =V, V-2, ...

lor0 m=I,l-11-2, ...

<V, L mthto =1,0080, [vi-1, Ii-1, m> = <v-1, |-1, mttholvti l, m>
'\/{(Vt +1 ¢ T 2) /2][(It _mt)(lt + mt)(ZIt _1)(2|t +1)] )
(Av, =1, Al, =41, Am, =0)

<V Itv mthtolvt'la |t+1- my>= <Vt'1v |t+1! mttholvt: Il! m>
=+ (v = 1)/ 200 - m + D1+ m + (2, + (2 + 3]




(AV, =41, -Al, =41, Am, = 0)
<V, L mtht+1 =rsnfexp(+Hx)vi-l, [-1, m-1> = <v,-1, 1-1, mt'llqt_l =r,sinfexp(-ix)v, Iy, m>
= +V{(Vt +1 t +1)/2][(|t + mt)(lt +m; _1)(2|r _1)(2|t +1)] )
(AV, =+1, Al, =+1, Am, = 1)

<V, L mtht+1 =rsnOexp(+Hx)IVi-L, [+1, m-1> = <v,-1, | +1, mt'llqt_l =r,sinfexp(-ix)ve, Iy, m>

=+l (ve 1)/ 200, —m + (1, -m +2)(2, + (2, + 3] ,
(AV, = 1, -Al, = 1, Am, = +1)

<V, L mtht_l =rsnfexp(+Hx)Ivi-1, I-1, m+1> = <v,-1, 1 -1, mt+1|qt+1 =r,sinfexp(-ix)ve, Iy, m>

=- v+ 1+ 720 -m)(, -m, —D@ -D(2, +1)] ,
(AV, = +1, Al, = +1, -Am, = +1)

<V, L mtht_l =rsnfexp(Hx)Ivi-L, [ +1, m+1>=<v-1, 1 +1, mt+1|qt+1 =r,sinfexp(-ix)ve, Iy, m>

=- v = 1) 7200+ m+ D+ m +2)(2, +1)(2, + 3]
(AV, = £1, -Al, = +1, -Am, = £1)

Gy = (Qt+1 + q{l)/ '\/5 G2 = (qt+l - q{l)/ '\/5 Gis = Qto (abc)
Ga= @+ V2 G=@"-aYV2 .=q°

(intensity borrowing)

intensity borrowing
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qs Vs = l qs VS = 2
K00 W= 20)
HO
Vv v,=1 vy =2
U Y,
Hqulo = ElqulO: Hquzo = EzquzO: V= <ljJ10|V|l]J20> (21
ES E ES ve=1
ES
g, = anlo - quzov W, = qulo + al|J20 (2-2)
g, W, a+br=1 a,b
E, = <Y H|y,> = &E,° + b’E," — 2abV,, = (E," + E,)/2 + (E’ - E,)(a’ - b)/2 — 2abV,,
E, = <Y H|y,> = b’E,’ + &°E,’ + 2abV,, = (B, + E,)/2 - (E," - E,))(@" - b°)/2 + 2abV,,
0 =<yyH[Y>= (Elo - Ezo) ab + (az - bz)V12 (2-3)
a,b
Ey E = (U2 {(E’ +E) £+ VI(E' - E) +4 Vy, ]} (2-4)
(1-6) ~ (1-8)
SFG
SFG Vau Vy
Vgu
Vg=0 Wit
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OMi/ O X Qhip

<Yyl = @ <Y, 1OMi/ 00 X ChinlWin™ = @ Hyi

<WolHyiolWine> = b <W,°lOMi/ i X ChinlWini™> = B Hyi (2-5)
SFG W,°
Py° Hyin |2
ki |2
owtyis [ a+b’=1
lal = [b]
lal = |b|

Oyio = <O, il00/00, X Ohiolg,W1*> O 3 o<g, WinlHle, W><e, Y'lulg, ;>

Placzek A. C. Albrecht, JCP 33, 156, 169 (1960), 34, 1476(1961)
(25

0.
<Plalp> = a <Piglalgp,>=aay,

<Pl Wy> = b <y laly,’> = b oy (2-6)
(2-5) (2-6)
P,° |0ty |2
2o, |2
oo, |2 a+b’=1
(1-8) ~ (1-10) (2-5) (2-6)
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SFG 2 X7 + X752 = xT°
SFG
CH HCH
H, H H C-H, CH, C-H,
rnh r, r; HC-H; H;-C-H, H;-C-H, o O ¢ CH HCH
Koo = Kogge = Kagar
Kigegs = Kaggs = Kaguger
K1 = Kagss = Kopar = Kogss = Kaar = Kageeor
Ko = Kagis = Koo = Kogogs = K = Kagaee:
Rl ch (Rai Rb) (cbaicbb)
Ri=(+5+0)/3, R=@-n1)/VB, Ry=(,-r)2
D, =@+ +@)VB, =0 -0 —@)VE, O,=(@-@)V2
2 R,
(Rar Rb)
CH HCH HCH
anZ + ¢’b2
K’l(pl(pl + K'quqB + 2K1¢2¢2 +2K'1(p1(p2 \/z (K’lq)lq)l - I‘r1¢2¢3/ 2+
2kfl<p2<p2 - kfl(pl(pZ)
CH HCH HCH
HCH (@7 - D2 20,D,)

Kiggr * Kagogs - ZKageee + Kagaee

Koo * Krigogs - Ko = Kaguge
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high-frequency isolation
CH
13 CC ” " CO ” 13 CN ” 13 CD ”
c ab Cov
SFG Baa: = BDbC’ Bafa = Bbcb! Bcaa = Bcbb!
Bee SFG
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Baa: = Bobc’ Bccc (3' 1)
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S p (XYZ) S

p X z
Z
z a
X z Ecosa  Esina O<a <m2
a b c
(a b, 0 X,Y,2)
6, X
V4 X X o
Y 0 z c
Z Y
0 c z
X X
(EX EY EZ)
E E E)
UE,0 Ocodh 0 -sin6cosy sinx OLIE,D
IjEbD:EO 1 0 [msinx cosx O EYD
EEE Hémd 0 cos0fHO 0 1 Ezﬁ
Ebosxcose sinxcos -sind DDEXE
=[ -sin cosy  SinxsinB[fE
H:osxsine sinxsin@  cosB Ezﬁ
w0y Bis s w, Ep P (sp)

E,.=E.sinxcosd, E,,=Ec0sx, E. . =E.sinxsing,

Ex=0, Eiw =Eys, E;=0,
E, .= Ex00sXc0s0 - E,sinB, E,, =EsinX, E,. =E00sxsind +E ,,0050 ,
E . = E, 0080, E,=0 E, =E,sna.

SFG

pa = Baa:El,JEZ,c’ pb = BbbcEl,bEZ,m pc = BcccEl,cEZ,c
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Bpxg g:osx -siny 0Jcos® 0O smGD]pa
Hpvﬁ [SnX COSY OD]‘? 10 pbﬁ
Pz 0 1fsine 0 cosBHp.
Ebosxcose -sin cosxsing Olp,0 (3-6)
—[smxcose cosy Sinxsing pr
H -sind 0 cosh pﬁ
Px = 2aeBaeELaEze: (379
Py = 2aeBraeEraEze: (3-7h)
Pz = YasPzasEiaBre, AB=X,Y,Z. (3-70)
Py Pz (3-3) ~(3-7) Buec A,B,C=X,Y,Z Bz  Puoe
Bece
SFG

[ppp] combination
Buocx = “(14) (Beg - Bax)SiN'B(3cOsX + 0083) - BSiNBOSK
Bk = Buax = (U2)(Bew - Ba)(C0SB - c0s™B)(1 + 00s2Y)
Bzzx = “(Bec - Bax)(SING - Sin'B)c0SK - BSiNBCOSX |
Boxz = (1/2)( Bew - Bx)(C0SH - c0S™B)(1 + 00S2X) + Bo00SH ,
Bixz = Bz = “(Bes - Bax)(SING - sinB)cosy
BZZZ = (Bccc - Baa:)cosse + Baa:‘,cose ’
[spp] combination
Brxx = (U4)(Bo: - Baz)Sin’B(siny + sin3y) ,
Brzx = Bixz = (1/2) (Beg - Bax)(COSH- cOSB)siN2Y ,
Brzz = (Bes - Bax)(SiNG- siNB)siny ,
[ssp] combination
Brvx = “(14) (Bew - Ba)SiN® (cOSX - 00S3X) - BaxSinBCOSY ,
Brvz = (1/2)(Bew - Bax)(C0SB- cOS'B)(1 - 00S2)) + B.00S0 ,
[psp] combination
Buorx = (U4)(Bow - Bax)SIN'G (siny+ sin3) ,

-11



Bavz = Bovx = (1/2) (B - Bar)(00SH- c0s™B)sin2y ,
Bzvz = (Bee - Bax)(SiNG- SinB)sin

[sps] combination
Bexy = ~(U4)(Beg: - Bar)SiN'® (cOSX - 0083X)
Brzy = (/2)(Beg - Ba)(00S8- 00S™B)(1 - c0S2X) |
[pps] combination
By = (UA)( B - Ba)SiN'® (SinX+ SiN3X) + BozSindsin,
Bezy = Boxy = ~(1/2) (Bewe - Pac)(00S8- 0OSB)sin2Y ,
By = (B - Bax)(SINO-siN’O)sin + B SinOsiny ,
[pss] combination
Buvy = ~(U4)(Beg - Bar)SiN'® (cOSX - 0083X)
Bzvy = (/2)(Beg - Ba)(00S8- 00S™B)(1 - c0S2X) |
[sss] combination
Bryy = (U/4)(Beg - Bax)Sin'® (3siny- sin3y) + B..sinbsiny,

X 2 3
0
X
X SFG
Boxx =Baxs Baxz Brwvz Brzvi Bovy
(pp) combination (ss) combination SFG p
(ps) combination SFG s
X

siny, sSin2x, sin3yx
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